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~ -!!! ~ 1S) JW.~ (12%) 

1. a level 

2. logit 

3. odds ratio 

~-==-!!! rJP~-1!! (9%) 

4. - ~ ·tij- 55L T chi-square test :ff:l1t ).If. a1 ~ ~ .tt .~!t tt ~ Jt :11; 1;;y test? 

5. - ~·tij- iJL T ANOV A :ff:lft l.t ary ~ ~ .tt.~!t tt ~ Jt :/1; 1;;y test? 

6. -~·tkiJL T two-sample t test :ff:lft !.l a1 ~~.tti:Jttt~ Jt:/1;1;;y test? 

7. ;'!it ::Jz.1~~ ffl #l~ :t 7t,.M.~(~tJ1a~; mmHgHl_,$}1!1{J.fgiji :t-::Jz. • 1-fl-A T.tt4t(z'f %) ; 

100~ ~~~ 1{J.fgiji 

1 102 102 

2 111 108 

3 119 122 

4 121 122 

5 122 118 

6 123 124 

7 107 118 

8 113 112 

9 112 112 

10 128 126 

11 135 136 

12 108 128 
., 

l-A 120 mmHg :/1;;fl-ilt 
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b.J-A#l~~~M~tf.:ta£il!~.Z·tki5L • twr,,~~/i(sensitivity)' #~·ti(specificity)' ..iE.ffti'tH.t(predictive value 

positive), ~ ffi5~~1.t(predictive value negative)~~~ jl? (12%) 
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~ .. (15%) Suppose the daily amount of electricity X required for a plating process has mean 
100 and stand deviation 30 kilowatt hours. If the cost of electricity is 50 dollars each 
kilowatt hour, find the (1) mean, (2) variance, and (3) standard deviation of the daily cost 
of electricity. 

~. (20%) If the probabilities are 0.25, 0.35, and 0.09 that, while under warranty, a new car 
will require repairs on the engine, brake, or both, (1) what is the probability that a car will 
require one or the other or both kinds of repairs under the warranty? (2) What is the 
probability that a car with a required repair on the engine will also need repair on the 
brake? 

10 .. (15%) A lead absorption group and a control group of children were identified by the 
amount of lead in blood samples. The performance IQ test was performed on 34 children 
in the lead absorption group and 63 comparably aged children in the control group. 
Variances of the IQ test are assumed equal between the 2 groups. Please use an 
appropriate statistical test to assess the statistical significance of the IQ test results, 
which are given in the Table below. (Hint: {(1/34) + (1/63)} 0·5 = 0.213; SD is standard 
deviation; SD2 is the square of standard deviation.) 

Lead absorption 
Control 

Mean SD SD2 n 
95 12.20 148.91 34 

105 17.69 313.00 63 


